What are the missing digits?
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Leanna solves 84 =+ 7 like this. _

| | | | |
- _ 2. One tens and four ones left.. 3. Exchange for 10 ones

add remaining 4 ones.
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124 + 4
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o 78 cones are divided equally across 6 lanes.

How many cones are in each lane? p ﬂ
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. Rosie is calculating 96 divided by 4 using place value counters.

First, she divides the tens. She has one ten remaining so she
exchanges one ten for ten ones. Then, she divides the ones.

Use Rosie's method
to solve
65+5
D=5
84+6

Spicy:

Dora is calculating 72 + 3
Before she starts, she says the
calculation will involve an exchange.

Do you agree?
Explain why.




—Answers:




. Rosie is calculating 96 divided by 4 using place value counters.
First, she divides the tens. She has one ten remaining so she
exchanges one ten for ten ones. Then, she divides the ones.

50/0000)
00|0000
000000
000000

Q

Use Rosie's melhod\ 1 3
to solve
65+5
75+5 TS
846 }
14

Dora is calculating 72 + 3
Before she starts, she says the
calculation will involve an exchange.

Do you agree?
Explain why.

Yes, because you cannot do 7 =3

easily.
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